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Note :— Th1s questlon paper consists of THREE sections A B and C.
| ’ SECTION A~ = 10x2= 20

L. .Very short answ'ef type questlons o
® Attempt ALL quest1ons ' | o
"(ii) * Each question carries’ TWO marks - ;

l/ Find the equa‘mon of the circle Whose centre is- (—1 2) and whlch passes i
through 5, 6). - ‘ — - B a

%J .If the length of the tangent. from 2 5) to the circle x + y - 5x + 4y
k= OlsJ_ then find k7 o

3/ " If the angle between the c1rc1es %2 + y - 12x - 6y + 41 0 andi‘
Wyt 4k + By - 59 = 0 is 45°, ﬁndk@

4.~ Find the equatlon of the parabola whose vertex is (3 —2) and focus

is 3, 1. | SRR
a If 32 - 4y + k=01sa tangent to x? — 492 = 5, find the value of k.
6.  Evaluate : FooN e i
ok
I ‘e'xe}idx
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/ v Evaluate 3 § ' -
o j- cos®x sinx dx. |

8 Evaluate :

2 o . '
: 1-x|dx.
[ -stae
9 »Evalﬁate : |
: ’ /2 . . S
: f xsinx dx. / .
0 B

d .
10. ~ Find the general solution of ::l% = et

| 'SECTIONB o 5x4=20
"I Short answer type questlons : ‘ | o R
@ ‘Ati:‘empt ANY FIVE. qUestiéns.
» | (u) Eachv question carries FOUR marks. _ »
11. Find the area of the trlangle formed by the normal at (3, —4) to the cu'cle o
a2+ y? - 22x — 4y +25 =0 Wlth the coordmate axes.
12. . Find the equation and length of the common chord of the two circles
’ 7. x2 »_.;;:,“yz + 3 +5y +4=0 :anci; - |
- y* + Bx + 3y + 4 = 0.
%3// Find the equation of the ellipse-reférréd to itsbmajor and minor axes as
’ thev coofdinate' axes X, Y—respe'ctiﬁely with latl_;sv rectum of length 4, and -
'dlstance between foci 4+/2. | _ | | |
/}1. | ‘,Flnd the eccentr1c1ty, length of latus rectum, foci and the equatlons of o
| d1rectr1ces of the elhpse :

922 + 16y2 ~ 36x + 32y - 92 = 0.
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Show that angle between the two esymptotes of a ‘h'yiperl')ola fi _'; %; - 1
is 2 t_en"l b/a) (er) 2 se(‘:_‘1 (e). v. 'V , | - ,

16; Fvind‘ the aree _' Beunded between th,e curves y = xbz,k y = \/_9; o

17.  Solve : . B , o | .

% + 1= *Y ,‘
| SECTION C 5x7=35 |
- IIL ~ Long answer type .ciluesti’ens.v: |

| 'Aﬁ(i)v Attexi}pt ANY FIVE (iﬁestions.
(i) '

- Each question ‘carries SEVEN marks.

‘ / Fmd the equatmn of a c1rcle Whlch ‘passes through (4 1) (6 5) and havmg

: the centre on

4 + 3y — 24 = 0.
‘Show that the circles
_ B

x? + 9% - 6x — 9 + 13 =0,

%2 + y2,-_-256f~ 16y = 0

touch each other. Find th_e. poinﬁ' of contact and the equation of common

-tangent at theu' pomt of contact

%( Derive the equatmn of parabola in- the standard form that is y ->4ax.
_21_. ~ Evaluate : : » . R - | |

T\Kx '—.oz)(bj - x) dx !
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ok orz1
S ’vaaluate : o - v

f cos® x sinx dx.

: 8:.7.‘ , "Evéluate :
t 1-x]dx.
{ owlde

9. Evaluate :

/2

f xsinx dx. / K

.10.7 - Find the general solution of % = e *Y : |
| ' SECTIONB B  5x4=20
1L | Short answer type Questwns : \ ' o
@ Attempt ANY FIVE questlons v
@) Each questlon carries FOUR ‘marks. _ _ _
11. Find_the area.of the trlangle formed by the normal at (3, —4) to the circle . -
%2 + 92 — 22x — 4y + 25 = 0 Wi‘thv the coordinate axes. | 4
12. - Find the equ.ation 'and length of the common chord of the two circles :
’ | | x+y+3x+5y+4 O'and |
2 4 y2 + Sx + 3y + 4 =0.
}/3/ Flnd the equation of the ellipse- referred to its major and minor axes as
the coordmate axes X Y—respectlvely with latgs rectum of length 4, and -
| ‘dlstance between foci 4+/2. o | ' | ,
/}4., | ‘,Flnd the eccentr1c1ty, length of latus rectum, foci and the equatlons of o
M directrices -of the elhpse‘ : ‘ '

942 + 16y2 — 36x + 32 - 92 = 0.
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